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Attempt any three questions :
(A) Define population and sample. State the characteristics of good sample.
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A population consists of 5 units with values 5, 6, 8, 10, 11. Write down all
possible samples of size 2 without replacement and find sample mean for each
sample. And prove that mean of sample is equal to population mean.

Write a short note on simple random sampling.
Variance is 5580 for population of 5000 units. From this sample of size 300 are
taken without replacement. Find variance of simple random sample mean.

Define analysis of variance. Write a detailed note on one-way classification.
The following data give the yields of three plots under 10 varieties of wheat.
Test whether there are significant differences among the different varieties.
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Write the uses of analysis of variance.
Discuss the causes of variations in analysis of variance in detail.

Write a probability mass function of Binomial distribution. And state the
characteristics of it.

There are 10 golden fishes in the swimming pool out of 50 fishes. Out of 5
randomly selected fishes find the probability that 2 fishes are golden. Find mean

and variance of it.

Write a probability mass function of Poisson distribution. And state the
characteristics of it.

2% electric bulbs are defective on an average. If there are 100 bulbs in each box
find the probability that more than 4 bulbs are defective in a box. (e 72 = 0.1353)
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7.  (A) Write characteristics of Normal distribution.
(B) For a Normal distribution mean is 12 and standard deviation is 2. Find the
percentage of observations (i) between 10 and 13.5 (ii) 10.4

8. (A) Write a probability mass function of Normal distribution. And state the uses of it.
(B) The mean weight of 1000 students is 55 kg and the variance is 100 kg. Assuming
that weights are normally distributed find the probability that weight (i) less than
45 kg (i1) more than 65 kg.

SECTION - 11
9.  Attempt any eight :
(1) Some part of is sample.
(a) population (b) sample
(c) Dboth of above (d) None of above
(2) Which distribution is used for one way classification in ANOVA ?
(a U (b) t
(c) Z (d F
(3) Mean of Binomial probability distribution is
@ n ®) np
(© p (d) npq
(4) Mean and Variance are always in Poisson distribution.
(a 1 (b)y 0
(c) equal (d) opposite
(5) In Normal distribution .
@ X=M=Z b) X >M>Z
() X <M<Z (d) None of above
(6) Mean of Poisson distribution is
(a) N (b) n
(c) O (d m
(7)  Once selected unit is given another chance for selection is known as
(a) without replacement (b) with replacement
(c) Dboth of above (d) none of above
(8) Meanis __ both sides in Normal distribution.
(a) skewed (b) symmetric
(c) both of above (d) none of above
(9) Blood test is an example of
(a) Population survey (b) Sample survey
(c) Dboth of above (d) none of above
(10) Value ofe = in Poisson distribution.
(a) 2.13 (b)) 1
(c) 2 (d) 2.7183
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